
                                                                                                                                                                         
 

Part No:  6182500-793 Prima Swift  Issue: 1.0 
   Printed on: Aug, 2024 

 

 

Prima Swift 
Service/Part list Manual 
   
Operating Surgical Microscopy 
   

 
   
   
To ensure proper use of this instrument as well as to avoid injury while operating instrument, understanding 
this manual completely before use is highly recommended. 
   

 

  

  



                                                                                                                                                                         
 

Part No:  6182500-793 Prima Swift  Issue: 1.0 
   Printed on: Aug, 2024 

 

  CONTENTS 
   
 Base & Column Assembly  1 
 Swivel Arm Assembly 2 
 Suspension Arm Assembly 3-4 
 Carrier Assembly  5-6 
   
   
   
   
   
   
   
   
   
   
   
   
   
   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



                                                                                                                                                                         
 

Part No:  6182500-793 Prima Swift  Issue: 1.0 
   Printed on: Aug, 2024 

 

1. BASE & COLUMN ASSEMBLY – PRIMA Swift 
 

 

Item Part No. Description Qty. 
1 6165000-895 PILLAR 1 
2 6134000-131 REAR SHAFT 1 
3 6165000-897 ASSEMBLY THREADED PLUG 1 
4 6165000-215 COVER CENTER SUPPORT 2 
5 6165000-517 SUPPORT WHEEL CARRIER 

ASSEMBLY WITH GUIDE PLUG 
2 

6 6165000-214 COVER WHEEL SUPPORT 
COVERWITH MAGNET 

2 

7 6165000-127 TAPPER PIN 4 
8 6165000-164 TAPPER RING 1 
9 6134000-272 CASTER WHEEL 2 

10 6134000-274 CASTER WITH LOCK BREAK 2 
11 SS-728 M 10X75 SCREW 4 
12 SS-176 M5X20 SOCKET HEAD SCREW 4 
13 SS-716 M3X6 FLAT HD SCREW 4 
14 6165000-351 MAGNUT 4 
15 SS-800 SOCKET FLAT HD SCREW M6x16 3 

    
    

    
    
    
    
    
    
    
    
    
    
    
    
    

 

 

 

 

 

 

 

 

 

______________________________________________________________________________________________.1 



                                                                                                                                                                         
 

Part No:  6182500-793 Prima Swift  Issue: 1.0 
   Printed on: Aug, 2024 

 

2.  SWIVEL ARM ASSEMBLY – PRIMA Swift 

 
 

Item Part No. Description Qty.  
1 6165000-811 SWIVEL ARM 1  
2 6165000-203 DOOR 1  
3 6165000-212 PANNEL BRACKET 1  
4 6165000-326 HINDGE CLAMP 1  
5 6134000-123 RETAINING RING 38MM 2  
6 6165000-943 ASSY. FRONT LED WITH CABLE 1  
7 6165000-325 HOLDER FRONT LED 1  
8 6165000-146 FRONT SHAFT 1  
9 6165000-512 BRACKET ILLUMINATION 1  
10 6165000-139 HEAT SINK 1  
11 A6165000-856 LED KIT 1  
12 6165000-150 FIBRE OPTIC CABLE 1  
13 AVT-810-00 POWER SUPPLY ASSY. 1  
14 6165000-166 LED COVER 1  
15 6165000-202M COVER SWIVEL ARM (RH) 1  
16 6165000-201M COVER SWIVEL ARM (LH) 1  
17 6168000-216 STERILIZABLE KNOB COVER 2  
18 6210000-827 LOCKING KNOB ASSEMBLY 2  
29 8126000-907 POWER ENTRY MODULE 1  
20 SS-717 M4X12 SKT/HD/SS 4  
21 X54346 KA 30X10 PT OVAL HEAD SCREW 6  
22 6165000-511 BRACKET BACK COVER 1  
23 6165000-204M BACK COVER 1  
24 WSWT20024 ON/OFF SWITCH 1  
25 6165000-205M DUST COVER 1  

 

 

______________________________________________________________________________________________.2 



Part No:  6182500-793 Prima Swift Issue: 1.0 
Printed on: Aug, 2024 

3. SUSPENSION ARM ASSEMBLY – PRIMA Swift

______________________________________________________________________________________________.3 



                                                                                                                                                                         
 

Part No:  6182500-793 Prima Swift  Issue: 1.0 
   Printed on: Aug, 2024 

 

SUSPENSION ARM ASSEMBLY – PRIMA Swift (continued) 

 
  

______________________________________________________________________________________________.4 



Part No:  6182500-793 Prima Swift Issue: 1.0 
Printed on: Aug, 2024 

4. CARRIER ARM ASSEMBLY – PRIMA Swift

______________________________________________________________________________________________.5 



                                                                                                                                                                         
 

Part No:  6182500-793 Prima Swift  Issue: 1.0 
   Printed on: Aug, 2024 

 

CARRIER ASSEMBLY – PRIMA Lite (Continued) 

 
 

 

 

 

 

______________________________________________________________________________________________.6 



Labo America Inc.
920 Auburn Court

Fremont, CA
94538
U.S.A.

Phone: 510-445-1257
Fax: 510-991-9862

Email: sales@laboamerica.com
            www.laboamerica.com  

EU REP.

Labomed Europe
Essebaan 50

NL-2908 LK Capelle a/d IJssel
The Netherlands

Tel: +31 (0)10 4584222
Fax: +31 (0)10 4508251

E-mail: info@labomedeurope.com

A16372 ISO 13485:2016

LABOTECH MICROSCOPES INDIA Pvt Ltd


